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Problem #4 — Suppose that you have the data on x and y supplied below and you wish to estimate the
following regression model:

yi =0+ Pxi+&

Using what you have learned, compute the estimates of the regression coefficients, their standard errors
and the standard error of the regression. Then add the regression line to the scatterplot below.

2

2

obs || xi yi [[xi=%|0i—9 | x* | xi—%)* | xi-®i—y) | & | &
"I N S O R I S U S -2 =/ | +% '///i ‘
w ||| O|—4] % © < -4
#3 || +3 | 43 || +/ +2 |4 / +72 +3 <
#4 | 41| 2 |-/ ~3 A A +3 -/ |=/ A
5 | o | 3|—2 |=F | 0| ®g | +3 -3 0| (O
#6 | +5 | 48 [+> | +Z 29| 4 +24 +Z |4/ | U/
sum || +12 | +6 0 0 40 A6 +37% 3+
mean || +2 +1
a=5-px = /=2:2= =3 *
2 LE—-X)0i—y) ._-33:2 o
T /€ ..
8—_—\/%2(})1 a_Bxi>2= %'?4’ "ng T
7 24 2 4 5
. lzxz Z-o4'0
s.e. = N & . — o~ ®
@=e ¥ (xi—%)* 430 s /‘6—4' | .
#‘
s.e.(E)za ! =723%- —L ‘-“—'06-0
(xi—x)* T /6 t



